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�� 
�  ��	 ����	
/����&$��3�		��	 ����� , �������	
� �� �� �3+� ��� ;�	�
� ��� ����� "�5 
��%�	��	��
��
 ����� =$,&7
95����� 6��� 
���� 	�������� ,%���  	 ����� ��	���	 ��
 
�� ;� ��
��5 ����� ��� ��J�� 3�������%��� ,;&,9��%������ � 	9��%��� � ;�	 ��	�
 � ,�	 �
 �	 
�� ����
 =����	� �� �������%� � 
�	 ����� ���� ��
���� �	%��� 1�	 ��������� 3���		 �
;�� �"7;&���
	%���
 ��
-���%� ���� 
���� � ������&!�� ����� 
�� /�		����� ��� ��&
J��� 1�5 =���
 
�� ��
9�� �� ���+��	� '�A %
 × �A %
 × �� %
( ��
 
�� ��������
/�		� ��� +������ ��	 : �� '���	%����J��%� ����� ����&=�� ��  ����(� �	 <1�4;�, ��	&
 ��	 ������� � 
������5 �� ����
 ����3��� �� ������ 3� +��
���
�6� <1�4;�, ���� D�
�	 ��������� ;� �� ��	�	 �
 �
�� ;�	�
� �� ���+��
� 
+��
��� 
�	 	�%� 6��� ���� 	������� ,%���  	 ���� ��	��	�� ��		 � 1�	 , �������	
� �� ��
+��
 �� 
�� =��� �� <1�4;�,&� ��
 <1�4;�,&� 
�	 ;�	�
� ���&����	��9
;�,�7" �����	� 3 '	���� ��%� 
�� ����%� 
�� 012(� ;�,�7" ���+��
� 3+��
,���3��
&;� �� ����� 
�� �� ����	��9���
� ��� 6��������
�� ������
�� 	��
� ;��
;� �� ���� �-���� 	�+��� �
 7��3��
�
�	 ��	 ��%� �
 !���3�
��3&/�
�	 �� ������
+��
��� "� 3 ���� ��
-���%� 
�� /�		��� ����	 "7�&,9�� ��
	� 
� 
��%� 
��
!���3�
��3��
������ 
�� RC����	+����� 
�	 ;�,�7"	 ��5 ���◦ ������3 +��
 ��


�
��%� 
�� #�������� 
�� 
��%�
������
�� ����%��� �����	%����� +��
���
;�� .��9 ��5���� 
�� $�� +�� 
�� 7� +�%����� ����� >�� ���&1�	+�� ��� 3�

?+�%�� 
�� F���� � 		�%������ 
�	 , ������	%�� 3�	� ;�� 
� 
�� ���
�� <1�4;�,
�� ���� 
�� ������� � ��
�		���� ;�	�	�� �� '����L ��	������ � ;�	�	 �� ,�( 
�		

�3� �� 
�� 2
������	&HI������� 
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���� ����� ����9�		 +��
��� ;�� !��������5�� �� ����� 	�%� 3�
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1, 2 · ḊSi
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�� !��������
� ��
�L 
�� /�  ����� 
��
!��������5�� ���� ��������� ����	 4� ������	 
�� ��� ������ 1�	%����
�	 ��K���� ���
� =�� 
�� �� 
��� ,%���  �� 
��%���56�� +��
L

• ;�� !��������5�� ���� ��������� ����	 5�	 �� 4� ������	 
�� ��� ������ 1�	%����
�&
	 ��K���� � 3��� � =� ��	 � =�� +��
�� �� 3+��&
�
��	������ .�	 ����

� ���	��&
 ��� �

• ;�� 3+��&
�
��	������ ��� ������ 
�� !��������5�� ���� +��
 ��5 
�� S&
1%�	� 9��D�3��� ��
 
�� ����� 
�
��%� 	�

� ��	%�� ��� ��������� ;�	
/�8�
�
 
��	�� ��� ������ ����� 
�� 7�+�� ���	+�� 
�	 !��������5�� ��	� ;��
, ��
��
��+��%���� �� ��� 
��%� 
�� #��3�� ��	 1�3��� 
�� ;� ��9��� � ����� 

�� , ��
��
&2�	�%������ 
�	 !��������5�� ��	�

• ;�� 3+��&
�
��	������ ��� ������ +��
 ��5 
�� V&1%�	� 9��D�3��� � ;�� 
�  ����
��� ����� 1�	%����
�	 ��K���� +��
 
� 
�� �� 
�� 1����
��� ��3��� �� ���
��

��



���	�
��
 ��  ��������
� ��� /���$��������#�� � ����	����$�
� ����� ��K��'

������� ��<���� ��� ��������� ��� ��� -
7����
� +#
 8�' ��� �
 ��� �K7�����
����
$��������
 /���$����0���#��
 01� 9-": ()
� �
� 9-": ()
4 ��� B�
���#
 ���
+��������
 -$�	�
��������E�����'

N0 N1 R0B=� R1B=�
<1�4;�,&� 1, 94 ± 0, 03 0, 84 ± 0, 05 7, 1 ± 0, 3 2, 1 ± 0, 3

<1�4;�,&� 1, 94 ± 0, 03 0, 83 ± 0, 05 7, 2 ± 0, 3 1, 9 ± 0, 3
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�� ��� ������ 1�	%����
�	 ��K���� �
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N1

1 + e(Rc−R0)/R1
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Ḣ∗(10)exp = Nfit(Rc) · 1, 2 · ḊSi . ':(
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H

D
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∫
D(y)Q(L ≈ y)dy
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������� ��  �� /���$����0���#��
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<1�4;�,&� <1�4;�,&�
NQ 1, 86 ± 0, 13 1, 89 ± 0, 16
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Q̄fit(Rc) = Q0 +
Q1

1 + e(Rc−R0)/R1
. '*(

7��� χ2&1�9�		��� �� 
�� ;� �� ����� 5�����
� #�� � 56� 
�� $���
� ��L

Q0 = 1, 184 ± 0, 011 Q1 = 0, 28 ± 0, 10 'A(

R0 = (6, 3 ± 0, 9) GV R1 = (2, 98 ± 0, 50) GV ')(
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Ḣ∗(10)exp = NQ · Q̄fit(Rc) · 1, 2 · ḊSi , '�(
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H∗(10)↑↓ = (Ḣ∗(10)FL300 − Ḣ∗(10)FL0) · (tcruiseWstart − ttakeoff ) · f↑
2

+
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/;2&� /;2&�

�>1&;!> 13, 9 ± 0, 6 14, 6 ± 0, 8 14, 1 ± 0, 8

;!>&�0$ 12, 6 ± 0, 5 13, 2 ± 0, 7 13, 1 ± 0, 7

�0$&7?7 7, 4 ± 0, 4 7, 2 ± 0, 6 7, 2 ± 0, 6

7?7&;!> 21, 9 ± 0, 6 21, 9 ± 0, 8 22, 3 ± 0, 8

;!>&�>1 17, 9 ± 0, 7 [ 17, 9 ± 0, 9

������� �� 9����#
�
�#��� H∗(10)neut �
 µ)+'

������� � ������ >7/&
;� �% ��	 0��� ��

�>1&;!> 3, 7 ± 0, 6 4, 7 ± 0, 3

;!>&�0$ 2, 8 ± 0, 5 3, 6 ± 0, 2

�0$&7?7 1, 5 ± 0, 4 2, 6 ± 0, 2

7?7&;!> 5, 7 ± 0, 8 7, 1 ± 0, 2

;!>&�>1 6, 4 ± 0, 8 6, 5 ± 0, 5
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ý 4���5 )7��
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